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RQ3. fuzzing target &= O{H L7 11X =717
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» fuzzing targetOl| ZAliol= L84l 2 (21/86)
- memory leak, null pointer dereference, integer overflow =
. DEEH 2 Yo It AIZhH| 22| 23t (15/86)

91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02

o3

04 pé%éer.Parse(input.c_str());

- fuzzing /1 & £ 37| 0|2 data ¢S = B, fuzzing SHE0[A
Yt Aot b= 2150 timeout 2 F= EX T

if (input.size() < min_sz || input.size() > max _sz) return ©

@ o

=2|Atal 1. fuzzing targete| boundary condition= AA et =M fuzzing target

A7} 712D Qs HBHS PAHOR EMMIGHE J|#0| S8 2102 J|ThE

. E|AE SAO| ChEt 2LURE Z44 (7/86)
91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02 . .

o TEST_EQ(true, TestFileExists(f name));

03 TEST EQ(true, flatbuffers::LoadFile(f name, &schemafile);

BIAES flot L Z O] EXhetCte 7H8 1 24 282 0|2 Qo LB

- S Ude 23t 4= SHEA M2 stA| ES (7/86)
91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {

02 . o
03 catch(jsoncons::ser error e) {}
++ catch(jsoncons: :runtime_error<std::runtime_error> e2) {}

- 02| AMe| &2 =5, X 02| 2| S8 A= ol Z
=2|Alet 2. ASUAI0M & V150t 02| E BAF 2 =M fuzzing targetO|
Astld= SHIE2 AFESt=A| 20lste 7[E0| 8 A2 = 7|CHE

. YIS Q2 (24/86)

= H|AE O3l (false negative) : 13.96%
. UE NS 212 WAIS 2 M52 %S (12/86)

91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02

©3 Dwarf Debug dbg =9; | dwarf get debug();
04  Dwarf Error *errp =90+ [&err;|

05 . o
06 dwarf _init path(filename, . , &dbg, ©, 0, errp);
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M=2 ASCH &40 tish fuzzing target =7t (66/110)
ASUYE S Sol= HAE AlLi2|2 HE (12/110)

91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02

09l

++ uint32 t compression arr[8] = { ccJPEG, . , CCLZW };
++ for (int ¢ = 9; c < 8; c++) {

04 . e

+4+ \ writer2.WriteTIFF(...,| compression arr[c]);

++

. ChFSE S22 EHMEEY| Y5 MR RO ASCHA B4 Al

=

O O

AAr 2= H3E (8/110)
91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {

02 c e
03 pj = simdjson::build parsed json(Data, Size);

++ if (!pj.is valid()) throw 1;

04 . o
05 pj.is _ok() ;
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91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02

++ if (size < 500) return 0 ;
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int

LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {

++ memcpy(ghB, data, sizeof(H3Index) ;

04 HéNeighborRotations(hB, , &rotations) ;
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91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02 . o

03 psl_is_public_suffix2(psl, domain, PSL_TYPE_ICANN);

++ psl is public suffix2(psl, domain, PSL _TYPE NO STAR RULE);
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91 int LLVMFuzzerTestOneInput(const uint8 t *data, size t size) {
02 ‘o

++ parser.opts.json_nested flatbuffers = false ;

03 TEST _ASSERT( GenerateText(parser, .. ) ;
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